
Ans: dhe ol of electo) ay ato is desCt i bed by s location 

hith aeAbect l6 tho ucleus ang by us eneAY Ubo dhus enesgy aud 

electson are quantied. Jt maans 
Cy electroy n an 

mewentuy 

atoy Can hauo only Coztay pemi2sible alus d 

Us enegy d gular mowemtuy Ohese permissible states eleehoy 
Calle d Obitals tcentfied b a Seto fou Nmmbes 

dhese unbers are 

Suamtu Hubers ae the 

te te ifemmation abeut 

rucleus 

'Synbol -

enegy 

an 

ete 

atom 

dhe uantm Numbers ase as folows 

9+ olO etesmmes 

D. An Kun9s fandey 

She6e eneoAy Shells ase 

foo examble ' -

eleetoons 

he 

[) oinipa) quantuy oumbes (o) : - 9} detes Mines the wMas 

Lenes G8 She ey hich te eletoou ay at6 y is presentan 

lso the eneny aSsocated +h i. 

By 

acco mmo dated 

revolvig 

) 

dsonbted as k,L, M, N---r, , 2,3,4 

Jhe Max mum uMibe ot eleatoons khieh a shell cay 

accom modate 

rumbers 

Total oumber of eleatoon 

Khieh Can foda 
eleaton aOUnd +ho 

S2wilarly In L 

Maxmum rumber od elestrons 

electoon trom te uelewh 

K Shell er |st shell(e = ) 
e THO electsons 

Shell he = 2 
L Shaee =X 

þres ent (9 
(ight Slectrona) 

e =3 

Mari Mum humber electrons boese nt An M Sheee = 
12X9= 18 eleetons 

Call ed Auantun Numbess 



2) Aimuthal o0 
uwbe dotewio 

by dhc vajue I ves poiepo enegy shell Ln Hhieh elerh 

a)3 

cto qular quantn Dumbes ).- Asemuhal Guaohud 

l: C, 2,3-4 

Valucqt 

te (3-1)=Óte (3-1) -0,1,2 

& tt (4-)=063=0,2, 3 

Ror eQpie 

Cobetals 

(3) Maguefie quat 

Now 

(-1) 

anbe 

29d Eyawble -

Nete!- Maximum numbes ot elecirens y an Cobital Gi Sub-Shell 
(4A 12) hhese & is Asiwuthal Quontu uibes (e O,, 2, 3 for S b,d,andf 

fellow 

| Yaluc ils Oze) 

they w Value l's O( 2en) 

e 

Nluwibe of 

Number defie s 
t is cleoed 

beha v'eun an e(eetrey ty maguetz'e t'elol ang 
vale cf A, the ralee of vaT'ts foo m - to tÃ 

the Valus ot Den s 
the value s O (zeo) theM 

Hagnete quantum 

Thaee 

Fous 

e-y, 

-2 to t 

,+ 

Naue o the 
Sub-sheij 6sbital 

9+ meaáns tor a g'uem Vale of tha tote Value f m s (2lt) 

309 Exawiple- 11 the Valus 4l ts 2 (tvo) 

-2, -I, O,tl, t2 

s, Þ, d,¢ f 

to glhin by 

(Threc values of ) 

-3,-2,-l,O, tt2,t3 

9f2, Totcy m Vaua IE (t) (áx 2«tJ) SCF2ne) 
y4 the 

3 
Isg thls Cese ttatuc t , So tb tat m Vafue a7e 

These Senen Values ase -3 -2,-|,0, t,+2, 

(att): 



Bhe aboe fae+s 

Value l 

2. 

3 

- o,t| 

wz-2, -l O,,2 
Total 5 vales 

quantu 

M=-3-4-\,91|+23| 
To tat = 7 Values 

Sþ' o4 the e<ectro 

may be 

y the 

Sanco the 

dumbes 
Jt '6 e pres ente 

Obpesite 

Nae o Sub-Shete 

S- Sub-Shes 

Only , One s CloCk es ds e and 

P- Sub-shel| 

DPin quantum umbes Sp'n quantum 1umber desCo2bes t 

- Sub-shel| 

4 - Sub'rShe| 

Une 's' sbitay 

moving 

Three p oabita 

Five qo tals 

electron Can Sp'n ' tHe 
athes ant' lock aDe, So S p 

Can take only tio valws t and -y -
by tiwO aTOws Khose polnts are 

oisectz'o 

i-e, cxy.dyz,duz A 
Sanan orbttals 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

